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Garter Stitch Cap

Difficulty level:

S

Needles:

4-5

Quality:

Pretty from Grindl|
100 % Polyacrylic
100g /166 m

T wn I pet = s e

2 x V2 x Y2 x Y2 x Y2 x

Size:
head circumference
approx.53cm-56 cm

Usage:

approx. 50 g each in colours 13
(wine red), col.14 (amber), col. 09
(violet), col. 15 (moss green) and
col. 10 (petrol)

Stitch Pattern:

Garter Stitch Pattern: k all sts in RS and WS
rows.

Selvedge St: first st at beg of row sl 1 k-wise and
last st: ki

Tension: 16 sts and 36 rows to 10 cm meas over
garter stitch pattern.

Pattern:

Using col. 13 (wine red) cast on 74 sts (including
selvedge sts) and beg with a WS row work in
garter st patt. When cap meas 4,5 cm (= 15 rows)
cont. in garter st in following col. sequence:

14 rnds each in col. 14 (amber), col. 09 (violet)
and col. 15 (moss green) then work 2 rnds in col
10 (petrol) placing a marker (contrast thread) at
every 8th st for the decs. Finish the cap using
col. 10 (petrol).

Next row (RS): * work to 1 st before marker and
k2tog, rep from * cont. to end of row. (= 63 sts)
Work these decs over the marked sts every RS
row until only 11 sts rem on the needle.

Cut the yarn and thread through the rem 11 sts
twice. Pull sts taut to close the hole. Close the
back seam using a flat seam st such as mattress
st. Weave in ends.

Abbreviations:

alt = alternate(ing)
approx. = approximate(ly)
beg = begin(ning)

col = colour(s)

cont = continue (continuously)
dec(s) = decrease(s)

k = knit

k-wise = knit wise

meas = measure(d)

patt = pattern

rep = repeat

RS =right side

st(s) = stitch(es)

tog = together

WS = wrong side
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